
Análise Matemática II

LISTA 5

(1) (a) log 2−
∑
n≥1

(x− 1)n

n2n
, x ∈ [−1, 3[

(b)
∑
n≥1

n(x+ 1)n−1, x ∈]− 2, 0[

(c) −2
∑
n≥1

(−1)n

n
[(x− 1)n+2 + 2(x− 1)n+1 + (x− 1)n], x ∈ [0, 2[

(2) (a)

(b) S′(0) = 0, S′′(0) > 0

(c) 3x2−x4

(1−x2)2

(3) S(x) =

−x+ 1, x ∈]0, 1]

0, x = 0

(4) (a) 2/3
∑

n≥0(−1)n(x− 2)n/2n, x ∈]0, 4[
(b) −17!/(3.216)

(5) (a)
∑

n≥0(log a)
nxn/n!, x ∈ R

(b) (1/a2)
∑

n≥0(−1)n(x/a)2n, |x| < |a|
(c)

∑
n≥0(−1)nx2n+1/(2n+ 1), |x| < 1

(6) (a) S(x) =
∑

n≥0 x
n/n!

(b) 1

(7) (a) Sf (x) =
∑

n≥0 α(α− 1) . . . (α− n+ 1)xn/n!

(b) ]− 1, 1[

(c)

(8)

(9) (a) intB = ∅, ∂B = B ∪ {(12 , y) ∈ R2 : − 1
2 ≤ y ≤

1
2}, B

′ = ∂B

(b) intC = ∅, ∂C = R2 = C ′

(10) (a) {(x, y) ∈ R2 : x2 + y2 6∈ {0, e}, y ≤ x} nem aberto nem fechado

(b) {(x, y) ∈ R2 : 0 < x+y−2 6= 1, y ≥ x2} nem aberto nem fechado

(c) {(x, y) ∈ R2 : (y−1)2+x2 ≤ 1, xy > 0} nem aberto nem fechado

1


